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PART A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

1- Tt had not raincd on the prairic for several months. Because of the drought, the climate
had beeome very ————--—--- ‘
1) unstcady 2) rigid 3) intcnse 4y arid

2-  Deserted for six months, the property began to look more like a jungle and less like a
residenee—weed grew -------—-- in the front yard.
1) unchecked 2) unjustilicd 3) complicated 4) scanty

3-  Can vou please ———--—--— this last part of the lesson for me; I’m not sure [ understood.
1) recapitulate 2) identify 3) postulate 4) recount

4-  Gerry’s dissatisfaction with our work was --—---—--- in his expression, although he never
criticized us directly.
') vulnerable 2) bright 3) implicit 4) humble

5-  The world’s coal, oil and gas ------—---- are finite; one day they will run out, so think now
about what you can do to consume less.
I') appliances 2) deposits 3) relics 4) amenities

6- You are recommended to use mnemonics to help vou -----—--—-- important items of
information.
1) enumerate 2) expose 3) recall 4) withdraw

7-  The lifespan of a mayfly is -----—---- , lasting from a few hours to a couple of days.
1) imprecise 2) ephemeral 3) superficial 4) swift

8-  His words to the press were deliberately -------------; he didn’t deny the reports but
neither did he confirm them.
1) mutual 2) essential 3) dogmatic 4) equivocal

9-  Tlundreds of people had come to see a popular satire, but during the performance a fire
started in the theater, and the audience and actors had to --——--—-- the building
immediately.
1) expel 2) evacuate 3) disperse 4) detach

10- Computers have helped solve some of the mathematical ---------—- which have puzeled
man for many centuries.
1) conundrums 2) caprices 3) artifacts 4) chronologies



O ol (il )5 (990 3T (wnadti Colw g Sy

Y dzio 438F (TPY 05) ol prilaw 50 cwidigo

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4} best fits each
space. Then mark the answer an your answer sheet.

When Newton arrived at Cambridge. the Scientific Revolution of the 17th century was
alrcady in [ull force. The heliocentric view of the universe—theorized by astronomers
Nicolaus Copernicus and Johannes Kepler, (11) ---------- refined by Galileo  was well
known in most European academic circles.

’hilosopher René Descartes had begun to formulate a new concept of nature

{(12) -=mmmmm-- an intricate, impersonal and inert machine. (13} ---------- . like most
universities in Europe, Cambridge was steeped (14) ---------- Aristotelian philosophy
and a view of nature resting on a geocentric view of the universe, {15) ---------- with

nature in qualitative rather than quantitative terms.

11- 1) and was later 2) and later 3) later was 4) which was later
12- 1) like 2) such as 3)as 4) the samc

13- 1) Although 2) As though 3) Because 4y Yel

14- 1)in 2) lor 3) with 4)of

15- 1) dealt 2) dealing 3) by dealing 4) and was dealt

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3}, or (4). Then mark the correct choice on your answer sheet.

PASSAGE I

There 1s no globally adopted operational delinition for drought applicable to all
contexts. 'This is the primary reason why policy makers, resource planners. and other
decision-makers as well as administrators have considerable difficully recognizing and
planning for drought than they do for other disasters. Global Assessment Report notes
that agricultural drought is probably the most "socially constructed” of all disaster
risks and warns that duc (o global climate change, its Irequency is cxpected o vary
much. To determine the beginning of drought. operational definitions specify the
degree ol departure [rom the long-icrm {usually at lIcast 30 vycars) average of
precipitation or some other climatic variable.

Drought is a phenomenon that 1s widely considered as a 'creeping disaster’ whose
onset. end, and severity are difficult to determine. Unlike the suddenly occurring
disasters, a drought may develop very slowly over several months affecting fiery large
geographical arca without causing litlle or no structural damage. The impacts depend
on natural conditions. socio-economic situation, and the kind of land and water
resources as well as the use patierns in the alTected region,

Mostly, the occurrence of droughts is a result of natural climate variability in all the
drought-prone regions and it usually exhibits a certain pattern of occurrence. While
droughts are quite frequent in arid and semi-arid regions, it can oceur cven in humid
regions blessed with abundant rainfall with lower frequency. The capacity to cope
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depends largely on the technical. institutional, pelitical. and social mechanisms to
manage the waler resources anticipating the scverity of the drought. Lifective
mitigation measures must prevent a drought turning inte a famine due to water and
food shortages.

Drought results Irom long period ol dry weather and insullicicnl precipitation,
which causes acute dry conditions.

16- The author’s main purpose in this passage is to --——--—--—--,
1) emphasize¢ that drought a the worst kind of disasters
2) give general information about a natural hazard
3) offer some methods for coping the drought
4) compare drought with other disasicrs
17- The severe dry conditions are the consequences of ----—---——--- :
1) a prolonged period with less than average amounts ol rain, snow or ¢le
2) natural climate vulnerability happening only in arid and semi-arid regions
3) the reduction of environmental moisture status in an area
4) a complex environmental phenomenon occurring unexpectedly
18- A creeping disaster ----------—-- 5
1) is usually uncommon causing the most severe distress in the allected arcas
2) results in widespread adverse impacts on people’s livelihoods
3) is one whose effects are not felt at once
4} allccts vast arcas ol the country
19-  You can infer from the passage that all of the following sentences ahout drought are true
EXCEPT - ;
1) its nature is not linally clear
2) drought is totally a scasonal and localized harard
3) the methods (or predicting droughts are far from perfect
4) the term drought is differently defined because it is studied from different points of view
20~  All technical, institutional, political, and social mechanisms contribute ---—---------,
1) to anticipate the severity of the drought
2) to manage the water resources in an area
3) not to let drought turn into a disaster called famine
4y to increase their capacity to cope with the results of drought

PASSAGE 2:

In order to evade damage when the force of an earthquake is more severe than
previously assumed, the accuracy of how individuals and organizations respond is very
important. In addition to the earthquake-resistant and disaster technologies for
preventing damage. to simultaneously minimize post-earthquake disaster, it is
important o improve the responsce ol the core members ol organizations and crisis
control tcams. In terms of the disasier arca, the way the core members respond has a
very large impact on the conscquences of the victims.

Immediatcly following an carthquake, the core members of organizations and crisis
control tcams must judge the circumstances and make policy decisions [or proprictary
emergency actions, not only in support of the disaster area but also the perimeter
regions and isolated areas. These initial decisions have a large influence and will



O ol (il )5 (990 3T (wnadti Colw g Sy

& doedo 438F (TPY 05) ol prilaw 50 cwidigo

21-

22-

24-

25-

indicate how the outcome cvolves. Tt s also important to consider previous
countermeasures when deciding crisis management,

A disaster plan that supports a spreading disaster area must also incorporate
judgments for damage to emergency organizations in the area. as these organizations
will not be able to operate normally due to the deteriorated conditions. 1t is therefore
important for residents and companies to prepare for responding to disasters as well.

Regarding the transmission of information on circumstances in the disaster area, it
is difficult to receive information even from outlving areas. Using the limited
information available, accurate circumstances must be deciphered and proprietary
cmergency responscs decided. The clarification of such circumstances resulls in a
large inllucnce on the [inal oulcome.

The actions of the key person(s) leading an organization's responsc Lo a crisis arc ol
great importance. There are many decisions thal must be made at the time ol an
cmergency. Immediate action must implemented.

This passage is mainly about ------------- .

1) improving emergency response

2) earthquake emergency problems

3) earthquake-resistant and disaster technologies

4) minimizing post-earthquake disaster

Mitigating the earthquake damage depends on ------——----- -

1) how buildings withstand the forces

2) the people’s preparedness before it

3) the information transmitted and received through quakes
4) how the main people of crisis control rcact in disasier arca
According to the passage, in the disasicr arca, the accurate decisions must be made by
1) transmitting the information

2) using the limited available data

3) reeciving more data [rom distant arcas

4) improving the capability of people at risk

The word “deteriorated” in paragraph 3 means ------------- ;

1) unstable 2) primitive

3) weakened 4y worsened

The authoer’s tone in this passage is --------—--—-- ;

1) informative 2) argumentative
3) enthusiastic 4y neutral
PASSAGE 3:

Mitigation efforts attempt to prevent hazards from developing into disasters altogether,
or to reduce the effects of disasters when they occur. 'T'he mitigation phase differs from
the other phases because it focuses on long-term measures tor eliminating risk. The
implementation of mitigation strategies can be considered a part of the recovery
process 1L applied alier a disaster occurs, Howcever, even 1 applicd as part ol recovery
cllorts, actions that reduce or climinate risk over time are still considered mitigation
cllorts.
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27-

28-

29-

30-

Mitigative measurcs can be structural or non-structural. Structural measures use
icchnological solutions, like (Tood Tevees, Non-structural measures include legislation,
land-use planning (e.g. the designation of nonessential land like parks to be used as
flood 7ones), and insurance. Mitigation is the most cost-efticient method for reducing
the impact of hazards. However, mitigation is not always suitable and structural
mitigation in particular may have adverse effects on the ecosystem.

A precursor activity to the mitigation is the identification of risks. Physical risk
assessment refers to the process of identifving and evaluating hazards. In risk
assessment, various hazards within a certain area are identified. Each hazard poses a
risk to the population within the arca assessed. The hazard-specilic risk combines both
the probability and the level ol impact ol a specilic hazard. The cquation below gives
that the havard times the populations’ vulnerability to that hazard produce a risk. The
higher the risk, the more urgent that the hazard specilic vulnerabilitics arc targeied by
mitigation and preparcdness cfTorts,

The writer’s main purpose is to -------------,

1) assess the process of evaluating risk

2) classify the various types of mitigative measures

3) show how to prevent hazards before their occurrence

4) give information about one phase in emergency management

The word “poses” in paragraph 3, means ----—-------,

1) restricts 2) Impresses 3) causes 4) assumes

All of the following sentences are true EXCEPT -—-----—--—--,

1) mitigation measures may have bad influences on the living organisins

2) mitigation method is still so costly to remove the natural disasters

3) land use management by planning tools is considered a non structural mitigation measure

4y structural mitigation measures are any physical constructions 1o reduce impacts ol
hazards

Reeognizing the risks —-—-—a—--,

1) requires technological devices 2) is a part ol recovery proeess

3) is a pre-requisite to mitigation 4) is a demanding challenge for volunteers

You can conclude from the passage that the phases of emergency management are

respectively -----------—- i

I) preparedness, response, mitigation, recovery

2) preparedness, mitigation, recovery. response

3) response, preparedness, mitigation, recovery

4) mitigation, preparedness, response, recovery
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